aln rna 7
L. e o o ) vl § L. Which is the State capital of Elryt
(1 fard (1 Bhiwani
(2 i (2 Panipal
(3) i (1) Sonipat
4) =gy (4)  Chandigarh
(8) T 3 z=7 s {5 Not attempted
i y . e is situated in which district
2. AT e e ey Pt & 2.  Nar Narpyann cave is si
< : Aot 1 fem @ :
(1) W of Harvana ?
i 1) Sonipat
»(2) TgEET
il \/ {2} Yamunanagar
(3 e

(31 Kurukshetra
(41 Bhiwani

(6)  Not altempted

(4) Far
(5) I=r 8 7 =

il T H W & vd Frer e i 3. During rainy season, which river becomes the
W I I ? major  cause of floods  in Ambala and
(1) = Fdt - Kurukshetra districts of the State ?
(2) TUwE TE 1) (Hakea River
{31 T 9 (27 Morkanda Hiver
{4y =zt EA . (41 Rakshi Hiver

{4y Tangri River
5 Not attempred

(5) I SE =0 =@

4, wim & gfangfrm d SRwm o= 2 7 4. Which State lies to the South-West of Haryana 7

(1) T&EE (1)  Hajnsthan

(2) IW WM (2)  Uttar Pradesh

(3) A (3)  Punjab

(4) TAEE (4} Uttarakhand

(5) It AR = T‘Tﬂ"?f (51 . ?*Fu't altempled

PUTSRP GRS £ padifEme |>  Deenbandhu Chhotu Ram Power Plant is located
5. 4 " == in the district of

(1) femm . . i1) Hisar

(2) TIEAAT L (2) Yﬂmununagnr

(4} Panipat

(4) aEITE " ITalE

5y 7 ] & = e S Lcmau"l}miﬁ%')

( & wrd i 70 ¥ | SPACE F&n'nn“ﬁdu'waﬁﬁ e JT—
AMRA/CA/Page 2 L e i TVORKE D3
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. HTEET W W i o
? & TR )y g 2 6.  Who is the founder of Bhakra Dam Project 7
(1 Sfiggm . i

Choudhary Chhotu Ram

(1)
() <l 4ef e (2) Choudhary Bansi Lal
(3)  =gfl Tomfr fim T (3) Choudhary Ranbir Singh Hooda
(4) =Nl wyaq E (4) Choudhary Bhajan Lal
(8) 39T TE &'-TI R (6) Not attempted

7. qrEgT A wreré T i 7. The Third Battle of Panipat took place between

the Maratha rulers and

ﬁ??ﬂ'ﬁ ol 1 1 Shah Abdali

{1) Ahmad Shah
(D) 37w e Al {2) Babur
(2) I (1) Hemu :
(3) %’L (4) Mohammad Ghori :
(4) wiEErz M (5) Not attempted

(5) I =E =0 =
B. In the Mahabharata, Haryana has been ealled

B. wgryma Wafmmm=l _ wmimR -

(1) =wfum (1) Haridham

(2 a;ﬁm-q (2)  Krishidham
(3 W""/ (3)  Bahudhanyaka
@) g (4) Java Sambhita

(5) I 7E 7 =mE (5 Not attempted

9.  wfEmn & wwefes Sy § wore w2 0 % Whatis a Phargal/Fargal in the traditional attire

of Horyana 7

(1) firgatt 6 w=h= - (1) Infant's shirt
(2) EFﬂ"lH . (2) Shirt
(3) == F13 (3)  Children’s cap
(4)  FerH Sited (4)  Fulkari odhani
(5) I T B ey (6) Not attempted

10, frafdfam # @ wmm ' #1 wfeensii o gt (100 Which of the following s o traditional costume
T &, 5 7Fe7 it Frame & wog Fear s # 2 for women in Haryana, which is given to a bride
(1) s ; at the time of marriage ?
@) (1) Lahariya
(3) H & gy
- (3) Gumali
8w - ot (4) Mandiya

AMRNanJage - {F) Not nttempted

. % = % 81y w2 1 SPACE FOR ROUGH WORK
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N T "o W — v Theme Stat
11, fafafaa @ 8 2000 o 'm-'fﬂ‘l-lrl 1;: :F ::fﬂf S 1::.1]':;;? ;;_I;:::t:f'lil:::;::tljrr]“;,I,T::r::tﬂj::1:11 l:_:::::'its MpI::
Bt dm g f1=:IﬂT-: S P (20201, I"urirlnlm.ll 1
RUNR LS D P (1 Himachal Pradesh
(2} Tr.-l"rﬂ_?l 2} Rajasthan
(31 I yenm
(30 Uittar Pradesh
4y T3= ;
B e 4 Punjab
(H)  Not attempted
12. wemm gfim iz, “iam STQE?I% Jﬁ‘ﬁ fifien 12, Where in Haryana is the flying training centre,
“ﬁ”’“ (HICA) R waren wheavn # frw &0 @ “Haryana Institute of Civil Aviation” (HICA) set
L up ?
N TwEm (1) Gurugram
2y frdna™ (2] Pinjore
() far (3)  Bhiwani
(4)  TrEmE ) {4)  Rohtak
(5) I 59 2 9= (5)  Not attempted
13. ¥ & faerdt wfazn fm fam e A HIY w13, Harvinder Singh, a sportsperson from Haryann,
8o belongs to which sport 7
(T L— (1L Shooting
2) feemm (2. Discus Throw
(3) wER (3 Hockey
4) = 40 Archery
(5) IR T 21 e 13) Not atlempted
14.  FaFm wam 5= 2hamn # wrl fegm 2 7 4. Where is the Chinkara Breeding Center located
1y i, ‘ﬁ@’?" in Haryang 7
(2) e, T (1 Morni, Panchkula
(3) Femm (21 Pipli, Kurukshetra
(4) A=, frar (3} Tlisar
(5) I TH B wrEd 14} Kairu, Bhiwani
(5)  Not attempted
L - : B ;
15. ?f(m:" A =i e A =i wfve Fen 15, Which year was declared as the “Girl Chily Year”
LI L. in Haryana ?
(1} 2006 (1) 2004
(25 2014 - (2)  2p14
@ 2016 v (31 2018
Gy 190 (4) 1994
(5) 3l B A (6} Not attempted
AMRA/C4/Page 4 T %1 & fg v | SPACE FOR ROUGH WORK



16- ?EIH mhavrl HTIT-I i;..-—,;‘ WICBey 1 raren wé 8,16, When was the Jatayu Conservation Breeding
A g firg 2ave % (VCC) & &9 1 51 1M Contre (JCBC), earlier known as the Vuliure
il Care Contre (v, eatablished ?
o, O (1) 2001
@ 2011 o
@ 2007 (3) 2007
4) 2016 (4) 2016
(5) I TE 2 = (5) Not attempted
1. &8 W § e faum wn @ R e w10 whith{w:llr w':zl.tril—fi:;r::]:dt:i :r;n:.—'- in the
agEhl 80 feran mn ? Haryana Vidhan ¢ i EE a0 7
(1) 2008 (1) 2008
(2) 1966 (2) 1966
(3) 1977 (3 1977
(4) 2001 (4) 2001
(5) I FE =7 91Ea (5) Not attempted
18, waTafE THE F 3w @ ahEmn ww % few ypi |18 Haryana State is I'Ii\:idt‘d into how many
falam 2 ? divisions for administrative revenue purposes 7
(3
(1), 3 i §
(2) 8 R
@ 5 v oL 3
“ 6 (5) Not attempted
(5) I T =T =T
19. The Mahabharata war took place in which region
19. WEMWA % g e & R &g 0 gsn @ 7 of Haryana ?
(1) THEF (1) Kurukshetra
(2) g (2) Panipat
(31 Hisar
2 fei (4) Jhajjar
W (5) Not attempted
(6) Ie @ A1 9
' . . ir the Census of Indig ¢ : —
. s e s g, s ) S S o
T w5 AEU A WA R | vopulation. £
(1) senEal |~ (1) eightcenth
(2) ggeal (2) Ffifteenth
@) wameal t3) eleventh
(4) gEat {4) tenth
_ (B) I ¥ &1 e (5) Nol attempted
COARAR A T @ & fere v / SPACE FOR ROUGH WORK
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21,  Frum) sy S i A ?F! ad B 21.  The meaning of the Harvanvi broverh
™ = = r 5
(1) ] wim it s @ T Bawla” (AT & A1) is P
(21 TamEe wrf @ v b m ':TTi‘ﬂ% " (1)  Selfish people do not eare for o —
@) v @@ # Wﬁwﬂq # wEwERH T (2)  The hasty person’s discretion becomes .
: . S zern,
FT | - (3)  Doing an unimportant work in the abge
(4)  arearé 6 gem 8 qod 4 @ el B 1 of an important work. -
(5) 5 o 5 vl @
D) I FE 2y 9EA (4)  Evil spreads faster than good.
5 (5) A
22, Fosfafan & § fam faemd) 3 opise wa 2018 4|, Sakateapie
i § e 7 2 2. Which of the following sportspersons w
1) Bdwe ) bronze medal in Wrestling i S0RS won the
) fa3m T i in Wrestling in the Commonwealth
5 24 ok iames 2018 7
@) e (1) Vinesh Phogat
i 2 (2} Yogeshwar Dutt Al
(4)  Tifgar Jmas
(5) = 7 77 97%d o7, Rapanbimat
h : (4)  Geetika Jakhar
2 ey -
8. wfamm & wafun Fraffs faenfed § @ femd 20 (5)  Not attempted |
202 o T
, 1] :;HW T = UZ% OIS f‘FﬂT 2 23. ﬂnlnﬁ[.‘.' the fu“owi“n [Jlﬂj'Frq Pl (
. L ran
(1) FHR Zn who won the gold medal in Toky -2[]‘:1. ¢
(2) l_j‘-ﬁ?ﬂ =] f’arn]_r.'mpim 9 Yo 20 (:
(3)  E o (17 Ravi Kumar Dahiya 28 .
':4} Eﬁ!ﬂ aﬁa l/ (2) Sunita Shflrma . ﬁl
(6) 37 F# 7 e (3} Sakshi Malik ’
- ) ' (4)  Sumit Antil o
. Emamm g : Z
; T T w5l f iy fem sfi 0 wem (5) Not nttempted n
T 24, Wh
R e £ " o was the first person to be bestowed with th &
b ok title of the State Poet in Harv . ¥
. QIR D) Kavi aryann ?
@) ImwEE avi Chand Bardai 3)
(2)  Bhai Parmanand 4
(4) @ I 7w 3 U S
P—T Uday Bhanu Hans
(4)  Shri Khushi Ram Sharma (h)
o5, A @ WAH T (5)  Not attempted 3
b o 1 e fea w9 8w _— . Choos
. - v e wvery [irst verse of the Gi Mmean
) Fa Kurukshetra' ns iita  describes “Hist
{2) ydara wr (1) Yudhkshetrn (place of (1 ‘
- ‘ war) !
(3) Fenaa (2)  Dharmkshetra (place of ri ) s
(4) ToIEA ) Shikshakshetra (p) "Bhtedtisneas) 4
§ . (4 Ra Place of learnj 3 s
(5) I AE T AmEd nkshetra (ply ng)
(3 N ce of battle) )
—0t attempted v
(5)  No

AMRA/C4/Page 6
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26. |
I“ I Wy L o
underlined  part  of the sente ":lhrmj;_ the (30,  Pick ou
. bl A . 1,
improvement is required, your answer is (). R (n immaculate =
In this jel age, ev _ (2)  inmaculate
3 ge, everyone s stod ;
an easy life. 15 interested in having (1 immacculate
(1Y had easy life (4) imaculate
(i) Not attempted
[2} rUI' hﬂ\'l_- an ‘-lnﬁ_\' Iife
(3)  to having easily life 31. Pick out the wrongly spelt word.
(4)  Noimprovement %~ (1) preference #
(5) Not attempted (21 difference >
(4) performence v~
27. Fill in the blank with the suitable preposition. (4)  reference >
He boasted iz riche (5) Not attempted
his riches.
(1) of
§ ‘ L 32. Pick out the antonym of the underlined word in
(2)  with the following skntence,
(3) about [ saw her sitting motionless in her chair and
(4) at gazing at the door.
(5) Not attempted (1) lazily 7
(2)  bending
98. Find out the correct indirect speech form of the (3)  negatively *
following sentence. : (4) lively
He said to her, “You cannot see the chairman.” {5) Not attempted
(1 HE_ told her that he cannot see the 33. Pick out the synonym of the underlined word in
chairman. the [ollowing sentence.
(2) He told her that you could. nol see the [ cannot rest from travel; T will drink life to the
chairman. lees.
(3) She was refused to see the chairman. (1) encourage
J}} He told her that she could not_see the (2) pgiveup "
chairman. (3) accept
(5) Not attempted (4) Jom
(5) Not attempted
20. Choose the word which is opposite in the
meaning of the underlined word : g4. Fillinthe blank with the suitable allernative.
“History abounds in jnstances of courage.” He wanted in the pool,
e —— - =
to BWimming
(1) suffices (0 _
2 (2) swim
@) lackst " (3 to swim“—"
@) shines (4) toswims
@) failures (5) Notattempled
~— % Not attempte oLUGH WORK
CEFORR
AMRN{:,;,F&QE = .M,,-nfa;_fmmﬁ | SPA

Choose the correct alternative

¢ the carrectly spelt word.

@ Scanned with OKEN Scanner



enire consisting of
. : 1 0 PAssSik
o St Cmanetion, ”“["rr '.”nnd the sixth sentences
irs

S i d labelled a5 Sy and

are given in the beginming an cenlenees have
Sg respectively. The middle four sen s, Q, R
been jumbled up, These are Inbelled o 'I .I" ‘
8. You are required to find the proper order lor
the four sentences.
Sy He tried the door.
5 He was careful not to touch anything.
i, The room was neat and clean.

Q. Then he stepped into the room.

(MR.  He waited for a minute or two. @

Read the following passoge and answer questions
A8, 39 and 40,

IT 1 had been nsked in my early youth whether |
preferred to have dealings only with men or t.rrﬂ;.' with
books, my answer would certainly have been in favoyr
ul |}nn'|-:5,. In later yoars this has become less and less,
Not that | have had so much better expericnces with
men than with books. On the contrary delightful books
even now come my way more often than purely
delightful men. But the many bad experiences with

men have nourished the meadow of my life as the
noblest hook could not do.

38.  Which one of the following statements best
S.  Itopened easily and he peeped in. reflects the main argument of the passage ?
(1) QSPR (1} There are more purely delightful men than
(2) RPQS purely delightful books. =
(3) SPRQ .~ (2> It is the experience with other human
(4) PQRS beings that nourishes one's life and not
(5)  Not attempted necessarily books, —
(3} Neither-men nor books give any worthwhile
36. Choose the correct n_r:tiw_e voice form of the experitnice.
following sentence : (4]  Books are always better than men,&yﬂ
Sharan was being taught by Anil. (5) | "Not attempted
(1) Anil was teaching Sharan, L— )
(2)  Anilis teaching Sharan, N e auihor says that in lter years his love of
(  Anil had tught Sharan, bnr:ks diminished hecause . .
(4) Sharan s teaching Anil (1) he had better experiences with men (hanp
: with books, o9
(8) Naot altempted (2} he had given up the hahit of reading books.
37.  Pick out the part of the sentence which has an (3)  even the bad experiences he had with men
error. IT there is g BITOT, your answer is (4). were more valuable than what the noblest
Some men are born great, books could Eive.
_____A‘_‘—‘————- (4" he did not ret many delightful books to
some achieve greatnesg and math
B__“———- (5)  Not attempted
some had greatness thrust upon them, 40, W'l:ﬂch one of the pairs ut'_p‘hraues h-E-'ﬂl holps tg
e s bring out the metaphorical meaning of 4,
C ‘meadow of my life" 7
(n ¢ = {1) Vast and rich life
(2) A (2)  Well-nourished but dul] life”
3 B

(4) Noerror
(5) Not attempted

(3) Poor but simple life
{4)  Pure and hmllhyliﬁ:w
(5)  Not attempted
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o famfa € g2 & fsfafaa i @ 6 stz

w1 5197 i )

(1) am 3¢ & qrem @ » 7 - uzA firg

(2) 03 g, “drer ge 2 81" - dres fw
(3) 79 nem avers ! - faenfadn faay, "
() 9ETE W oah ool |- i

(6)  Ie T F =mEn

‘it fanradl s 4 )

S v | gE ul Aweae Fa A o
Ik -l IAE R

(1) 3T IHA &

(2) it HEET H

=

(3) UHH IAADIN &
(4) qma‘iamareimm\/

(5) I A1 &7 =TEd

4. ‘gl e Ffia 2
(1) 73wl A
(2) g{mﬁ“”r
(3) 73w A
4) g Il A
(6) 3w 7€ 0 <

U g oz @ ore foeeed 1 TG |
) ag+a=38 "
(2} (4 37 ==
@) yq + o0 = 791G
4 7 yam=am

15.

486.

47,

48,

S’ e e Faen S & waf g o
(1 e faon-fagmm

(9) e fam-famm

@) wega fg-fEarm

(4) g frm-fagmm

(5) 30 7@ 21 =TEA

Sira 3 e v, fEee g St e G

FR?

(1) W%Wﬁi%maﬁlﬂmﬂﬂwm
e

(21 3l 95 I AR T 2

(3) T & @i framd 5 @

(4)  rer il Fin e feh 3 7

(F) ‘IFT AF 291 =T

F-H1 7 dewA TR ?
(1 'R

(2) @F

(3 WL~

(4) 7™

(5] ﬁtqﬁaﬂmﬁ

anfie 39ET A TR A A R
m o
(2) =M

-

(3) 9d

@ @
(5) U & e

-_.____._——"-"-__.—_
%\_?ﬁ?ﬁl s o forg e/ SPAC

I c“-’Page 9
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49,

50.

al.

frm o fom frmeq A ggn @ R 2

(1) el -

(2) vwEF -
3 S=h -
4) s |
(5) I 7é T A

B 32 § eham ey s 20
(1 ¥ + =70
(2) 377 + 33 = 39

(3) nﬁf-'-mﬂ:mﬁuﬁv
(4) WA+ $m = weftep

I T T

‘ | ——— F wm ae fm ) e s e

mmiﬁqmwmmwwm
T, |
(2)

(3)

(4)

AMRAJCA/Page 10

52,

‘g’ v 1 WA T AT R

(1) |

2 TN AT
(3 fam

@) fmmm
(5) I 1 21 WEG

e’ = & fou 3w arim = w21 $ifw |
(1) §WHEH =1 Fews § w7
(2)  FoTal &1 G2y

" T S st s v @ e

54. iinlh!iaaﬁmﬁamn Wﬁjmmmqﬂﬁw

3‘ldﬂﬁlilT-‘H‘g'a

(1) m*gﬁﬂmu

@ i & sy ey

(4)

- TNy
Hﬁ'm?ﬁrﬂ_ﬁ gz

(3) mqﬁh?ﬁiﬁ

(5} I T T

T wrd & Tore T | SPACE FOR ROUGH work




g TEA'H weH Al uw sapfie wm # afkensit

57

B

HE 95N 6 Hem f R IE BRI B W
7 wftemd st & st 1y qen aw o wan @i ¥ | e
go 3 ufkenail 6w woe b | e A an

(3) 45
4) 36
(5) I A 2 =R

a3 AT T W T A |
SEPARATE

{1} PARADE L~

(2) TREES

(3) TEARS

(4) ERASE

(5) I AE] 2 AvEd
e g m ¥
s} 5

g s i s i 7 T

= T 8

K R E
'. = x5y .-__f : -‘ “';w ‘“‘ﬂ’

% L!'I B w m

_b‘ 1 B
@
i ‘.-_\.\‘.
\

which wstarts from city

88, In a local bus A’ the
number of women is twice of the number of =
In the next station ‘B, 7 women get down and
11 men enter the bus. Now the number of mey
and women is equal. In the beginning how many
passengers entered that bus ?
(1) b4
(2) 18
(3) 45
(4) 36
{5) Not attempted

57. Find out the word which eannot be formed by
using the letters of the given word.

SEPARATE
(1) PARADE
(2) TREES
(3) TEARS
(4) ERASE
(5) Notattempted

58, Numbers and their letter-codes are given in the
pllowing table :

il a7 | 2./ 8 | 6|5 |
Lettér-Code| K | E | F | Y ?J_EJ
You have to find out which option has the correct
coded form of the number group 8637.

(1) YEPE

w
urtain code language, TRAIN is coded 85
en how will DATE be coded in thal

)

(3 Scanned with OKEN Scanner



G0.

61,

Frrtafa 0 4 sy oz i B

458: 6

625:5

108: 9

FLEE e
I A EA =

uF weh) s oy w0 o s 3 FR, “am
H?“rnﬂnﬁ:mﬁﬁmtl“aiﬁmmm‘aﬁ

H T Hay R 7

1)
(2)
(3)
(4)

(a)

o

=]

LE
'Frﬂ'h..-"’

W Fw % W At from # ) wmea: w
mn&ammmgmaﬁmmm‘mﬁm
ﬁﬁ"ﬁfﬂlﬁﬁ.mnaﬁqmmﬁ'—ﬁﬁuwaw

#H fraem/fmm &
FEd: il gk Tl £
ol I fafat £
mﬂfﬁ"liﬂﬁ|
7y -

(1)
(2)
(3)
(4)
(6}

M mh o fefgur 3 | &
(1T} E‘Tﬂ%‘f_—qq:g.gl 7/
() 53 g o & | L

FE 1111} Py
Fa® 11 Frery

AMRA/C4/Page 12

60.

61.

G2,

Find the odd one out,

(1) 48:6

(2) 625:0

(3) 108:9

4) 42:4

(6) Not attempted

Pointing towards a girl, Ankit said, “This girl s
the wife of the grandson of my mother.” How is
Ankit related to the girl 7

{1)  Father

(2}  Uncle

(3 Son

(4)  Father-in-law

(6)  Not attempted .

Three  statements are followed by three

conclusions. Take the statements (o be true even
if they seem to be nt varianee from the commonly
facts. Decide which of the given
conclusions logically follow(s) from the given
statements,

known

Staterments : Al rats are cats.
All lions are cats,
All deer are lions,
Conclusions: (1) All deer are cats,
(I Some deer are rats,
(T Some cats are deer.
(1) Only 1l and 111 lfollow
(2)  Only Iand 111 follow
(3)  Only 11 follows
(4) Only 1 and I follow
(5] Not attempted

T
' : _
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\Tﬂ&mareﬁ

g3 "TEEH (x) % WH @ R 9

35, 46, 59, (x), 91, 110, 131

(1 64
(2 Tan—"

(3) 79

(4) B4

(5) I el 0 wrea

dta w3 O e § 43 | R, g s o b
B 781 431 2 1 v, g & Prees T A
2|, 9 & Gy &3 2 ) oA ofw d o
2 o ol R A H dS R W@ oapm

“IIEl‘E“ﬁﬁiaﬁP‘ﬁﬁﬂFﬂwg? o X
{1} tﬁ 5".:{2 ﬂkf}{ !l JJﬂ'gi:H
(2) WER>— __;ﬂ_ij’ﬁp
@) wfE —

(5) THT TEI oA mﬂ

A T ¥ % faw o d | Em A aydmaen § A

o 7 ® | 39 A A F I 7

) - i wakt # WA EH I |

@ m & wdemEn § g w6 S f I
farsira iferal @ F |

@) il @ A = gE ) S s |

() g a3 @ A SUR TR F FES

(5) v =gl 27 <TEd

8. frefuran won ae Q0 F0 & R Rum

fﬂ%ﬁﬂﬂﬂqnmanmw@rﬁmr

0,286 _7, 293042_1_.72%

) 18 3k 56
2) 123fts6l "
@ 183t 48
(4) 12 3l 48

C4/Page 13

_—_.___-_ﬂ--ﬂ-
7o | SPAC
s @ & x

63. What is the value of (x)in the sering 7

a6, 46, 69, (x), 91, 110, 131

i1} oG4

(2) 74
(4 79
(4) 84

() Not attempted _

64. Five 'boys are silting in a row, Ravi is not

adjncent to Suresh or Anil. Anubhav is not
adjacent to Suresh. Ravi is adjacent to Mohan.
Mohan is in the middle in the row. Anil 15 sitting
at the end on the right side. Then Anubhav is
sitling adjacent to whom out of the following 7
(1) Ravi

(2) Mohan

(3) Suresh

(4) Anil

{5)  Notattempted

65. You are a Finance Minister of any country. There

is recession in the economy of that country. What
best action would you take 7

(1) Try to get money [rom international
agencies.
(2) Implement good financial policies  to

enhanece the economy of the country.

(3) Divert the mind of the public to other
ECITTC:

(4) Try to borrow money from other countries.

(5) Not attempted

Select the missing numbers from the given
options that will complete the number series.

D' 2, E- __‘?—-' 20! Iacll I12| __L 72. 9':'

(1) 18 and 56
(2 12and 56
(3) 18and 48
(4) 12and48
(5 Not attempted R
R
EFungauuso K Wy
<A Ay

e




67. facsferfin & fim vz 3 AL

() sfEn M
2 fam_-m
(3) wHios - TAL 'Gf
4wz _ wm

(3 T 7A # 9

B8, W fawem 9 gf A Awt oz & 3 WA FEfE R

s wam gEn i R o B A
12:72::6:7

(1 46

(2) 28

@ 18

(4) 64

(5) 3= A T =ma

69. mFmaﬁﬂﬁqﬁanﬁﬁtmmﬁm%

= m w aafm v g
Mma *AMm:: Ppr:?

(1) RPpy__- pPp

(2) Rpr

(3) RpP

(4) Prp

(5) T 3 2 ey

70. TR HEA WO 3 oy
mrmhﬁﬁﬁﬂﬁﬂ;mmmﬂ%:
DUop, M
1 203 4.5 ¢

(1 4.3,2,5,14

(2) 6,3, 1.2.5'4

@ 431525\ _—
4) 4,3.2 L& g

(5) 9T 2

il s srge svrt =

67.

G8.

69,

Find the odd one out,

(1) Lyricist - Song

{21 Farmer - Plough

(31 Labourer - Spade

(4)  Carpenter - Saw

(61 Not attempted

Select the option that is related to the third term

in the same way as the second term is related ¢,
the first term.

12:72::6:7
(1) 46
(2) 28
(3) 18
(4) 64

(5) Not attempted

Seleet the option that is related to the third term

in the same way as the second term s related to

the firsl term.

Mma: AMm:: Ppr:?

(1) RPp
(2) Rpr
(3) RpP
4) Prmp

(6)  Not attempted

Select the combination of

the letters arranged accordj
meaningful word :

DUOPI M
1 23 45 g
(1) 4,3,2,5,1,8
(2) 6,3,1,25,4
(3) 4,3,1,6,2,86
(4) 4,3,2,1,6,5
{6) Not attempted

Numbers gq hat
ngly will form
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P 0 3 .
1 ERLEU AN B 11 VY sz fieen & o
T A wE % o i g b

(1) 9@ iy wim

(20 Feamy TIgaT
3 o= gqfefadim
{) tfn famm

(5) I TE T A

n e & JmEmE wweEn: Sdwe S s
FAEATE FATE IV Al § i |

(1) 7 WAl w1 gifem @l § gwes fams b
" §

@) 7 fefome Frard @ @9 #

@) 7 98 s F fau 3fd #

4) 4 wamEA & fom glaurs 3

(5) T ¥ 2 =rEd

N Erfefum 5§ @ o8 F97 T ) & a0

Tl

T2.

What is the name of the software that is used for

maintenance and configuration  of Computer

Syutoms ?

(1) General Purpose Software
(21 Deviee Driver

'./

(4) Operating System

i3)  System Utilities

(5) Not attempted

Virtual keyboards or Online keyboards are

commonly provided by Internet banking websites

because

(_ (17 they allow users to type passwords securely
{2) they are faster than physical keyboards
(3) they can easily fit on small sereens
(4} they are convenient Lo the user

(5) Nol attempted

Which one of the following statement is nof

g 73.
Lk
R R correct about Blockehain technology ?
0 =\ oF =1iF 1 O ?- forit yoemn ¥t T (1) Each block has some data called its header,
m k_,' m I]"E m mﬁ :'TEH# ﬁmi am t I “.hjch iﬂ ‘.ri_s.il)!{! Lo leur-‘l ﬂ'l.h(!r ﬂﬂde-

W Udhel "3 [ﬂ'ﬂfﬂﬁﬁ} & fom, i (2) It is possible for a single member of the
1 71 2R § @2EE HA ot network to make changes or alter data.
lua"/‘*a?'l mrft ff =ts & i T/ TAE T (3) Only the owner has access to the private

TR W o data of the block.

Y S €127 o s e 3% B w1 (4) A bloek can be a secured chunk of data.

f

b - (5) Not attempted

Al I ff 1 amea = e
H WORK
Paga 15 @ w7 & forg 7urA | SPACE FOR ROUG
|
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75, s £ sgEmn tawj?c“ﬁ.'iﬂ}:ﬁﬂ"!ﬁqﬁ.ﬁﬁ
w f=fafar & & fem @ sfimn ®1 Fefm
7 e wm Y
(1) wum = sfoew
(2) w5 ) = = AT
13) 2w @ 1 s
(4) T=arm w1 st
(5) W I
76. s Fatedn el aw 50
(1) i{mfm":ﬁh‘ﬁﬁﬁmﬁmaﬁmﬁm
AR B I e S
T T T

' mﬁmﬁ?ﬁﬁ@%ﬁmm

@ T W s s
ﬁmmmmﬂmmaﬁﬁi

MJ mmﬁ%mwﬁﬁﬁﬁﬁm
TS ) e B

(5) W"'ﬁ%mms,

7. mhmﬁﬁgwﬂﬁﬂ%mm
wmmwﬁﬁm#mﬁﬁﬂfﬁﬂfm
™ ?

L/('I'J- L1401
(2) =N
(3)  wETE
4) 77
(6) I 7 &9 =R

o 0022 fowaag (4fim)

4. faza untam fran @

"R

PSSR R
(n :

Yyt W [BE]

e i org

“srerazh fra, W FATE

(2) o
(3) “mwo ygam, /U 9

(4) i ¥ f A A

(5) 3IW A 2 <A

74.

6.

AMRA/C4/Page 16
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7.

7.

What is the theme of World Habitat Day for the
year 2022 7 ;
(1) “Mind The Gap : Leave No One and plae,
Behind” )
2y “Inclusive Development, Sustainabl,
Development'
L) “Clean Habitat, Healthy Habitat”

) “Inclusive Development For All”

(5)  Not attempted

The enforcement of which of the I'nIlu-.viug
Fundamental Rights cannot be suspended wher
a Proclamation of Emergencey (Article 352)

I8 in
operation ?
(1) Right to Equality
(2}  Right to Freedom of Religion
(3)  Right to Personal Liberties
(4)  Right to Freedom of Expression
(8) 'Not attempted

What is a reserved constitueney ?

(1} A conslituency in which only those politica

parlies cluiming to represent reservid
categories can contest clections,

(2) A constituency in which only members of |
particular reserved calegory can stnnd for
clections,

3) A constituency in which eleetions are hel:
following the principles gf Proportiona
representation.

(4} A constituency in which the voter |js
consists only of the memberg of & particyla
reserved category.

(6)  Not attempted

Whose tenchings and

pusthumnusu- written and 'i'pr:z:l!:;ﬂ “'t'!" E

followers in the form of Tripitaky » by hi

(1) Mahavir

(2)  Kabir

(3) Shankaracharyn

(4) DBuddha

(6) Not attempted

____—-""“-.__
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| _

, -qf!ﬁ&nmﬁﬁﬁ v B 2| 78,

A f @ W ug a Which of the ¥
78. frfert i 1 I, t following mptals 18 mﬂd&fﬂteiy
(1) e (Ca) oY £
3 (1) Ca
(2) tefirfa (AD
Ef (2) Al
a8 1 ) ¢
(3 Ay (K [,—-’M‘ K
(4) WA (Fe) 4) Fe
(5) Jew Tt &N W (3]

Not attempted

rp. Bffan § @ FAEA Fwm FE T #) HAEA| 79, Which of the following statement/s i/ar

qftads & 91 ¥ ah R 2 about change of state of solid ? g
(q) TET® W FH & frean i f 31| = qHEE (a) The continuous supply of heat ag mels
i 3 ing
=g = 21 point increases the temperature of e c,.,“;'
(h) TR T S 6 [ W 2 @ ¥ A (b} Thc continuous supply of heat at melting
o e T I | . point does not change the temperatyre . ¢
; the solid. !
(c) TR T FI # fm :q'rqﬁ | # T {l;i}_ The continuous supply of heat at melting
e § wged o I A S R | point gets used up in changing state from
£ foe o g2 A 7@ e w1 wm i solid to liguid.
(1) (b)a=@ (e) Choose the correct option from the codes given
(2) Faa (b) below :

2)  Only (b
\/m/t'ammtc:- '“' 76

" (3) Only (c)
(5) IR AT & 9
(4) (a)and (c)

80. 683 i fren yaw # fem oeg 3wl e (5) Not attempted

fedd 759 1 gEER HEy 2 :
(1) FeEn ¥ 80. Which State won the most Film Friendly State

Award in the 68" National Film Awards ?
(1) Telangana

(2) West Bengal

(3) Madhya Pradesh

(4) Maharashtra

(5) Not attempted

81. Whatis GUI?

(~) Graphical User Interface
(2) Geographical User [dentity
(3) General User Instruction®
(4) Gaining User Information

(5) Not aM




- .  afta & FAEAH
N2 2 wpw g @ A T

S fm wen fagy an am ug R Y
mE
3 mEE

-

Fﬂﬁ?.-ﬂ 1
afy

R R o

—
én

B, ‘mnm’, ae’ s ‘T (firfier)’ yRa A fah

i & 0

e mET i v
(2)
(3)
(4]

(5]

B4.

B5.

82. Which art form derives its name from the

83.

birthplace of the character Sita from the famoy,

1 ol
epic Ramayana '

(1) Gond

(2) Mandola

(3) Mithila

(4) Vanshri

(6) Not attempted

‘Maharatnas’, ‘Navratnas' and ‘Miniratnas' are
classification of in India.

(1) Public Sector Units

(2)  Mineral Rich Arcas

(3)  Special Economic Zones

(4)  Civilian Honours

(5) Not attempted

What is the name of the international 5~
organization which fucilitntes cross-border police
todperation Lo comhat international crime 2

(1) INTERPOL

(2)  POLCRY

(3) SAFETYCOM

(4) NATO

{6) Not attempted

What is Anthracite ? 89,

(1) It is a form of coal which is

maoisture content.

soft with }Ifgh

L,b?.?lﬂﬂﬂiﬂ'ﬁﬂ 7 97N % e @ |~ (2)  Itis the highest Quality of hapg o
_(3)  ® afufze s A waffir < TR R | @) Itis the mast Popular cgq) in l:-:l :
¢ (4) TR R Fre e AT 0 e g g " :’;;lw | MMereiy)
: ; grade brown coa].
(5) I A T =l Sl (5) Nol attempted
"AMRA/CA/Page 18 T W14 & (7T ¥ SPACE FOR rouon WORK \ N



35%
40%.1 \/_
25%

. ;ﬁ:; tr?nem AT U Yk # 0@ T | 5w
@ T F A g e @ A e s e
g I % drree & s f
(1 2:3
(2} 5:9

Vra}"'?:s
4 1:3
(5) I TE Z AR

B TR =9 § 9@ 500 fEm i R, faaw uw wm AR
8% Y 9T =T & 9YT I 18% o G ASA R | ¥
f A2 § 37 14% @7 g & | 8% @ Wl w
S EIREI R

(1) 220 ferm
2) 200 fFm
@) 180 fEm
4 300 e
B 3 481 & =l
= * 20,000 =73 T 2 @91 7 T 22,260-50 #

fmi-wﬁcmaﬁaﬁﬁhﬁ@mtumﬁa

bought goods worth @ 6,000 and sold half

A man :
10%. Al what pain pereent

of them at a gain of
must he sell the remainder so as 1o get a gain of

25% on the whole ?
(1) 30%
(2) 35%

J0%

25%

(5) Not attempted

Three equal cubes, are placed adjacently in a
ruw.-']‘lmn the ratio of the total surface area of
the cuhoid formed to the sum of the total surface

areas of the three cubes is :
(1) : 3

(2) 5:9

(B 7:9

4 1:3

(5)

2

Not attempted

A merchant has 500 kg of sugar, part of which he
sells at 8% profit and the rest he sells at 18%
profit. He gains 14% on the whole. The quantity
of sugar sold at 8% is:

220 kg
200 kg
180 ke
300 kg
Not attempted

(n
(2)
(3)
(4)
(5)
T 20,000 amounts to ¥ 2226050 in 2 vears al

compound interest, compounded annually. The
rate of interest is :

N 5ose (1) 525%
Uy (@) 55%
o .
N 3) 6%
. (4) 5%
i)
mh* i EoN— (5) Not attempted
WORK

™
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a ﬁﬁnhhﬂ.g’_.h-b:-ﬂ'ol‘ﬁl:h:c B : |90,

w1l i
2 1:2:1 ’
v}m 2:1:1
4 1:1:2

(6) 39 71 2 wmh

91, mnnutﬁmﬂirml»!#m.u 6aw1 791.
amm
U 830, 10080

@ son0, 10080

-

)
. [ m‘

Irgi..,b“+c2-ah-bc-cn=ﬁ,thenu:h:c- is ;
(D 1:1:1
(2) 1:2:1
3 2:1:1
@ 1:1:2

(6) Not attempted

The two numbers nearest to 10,000 which are
exactly divisible by each of 2, 3, 4, 5, 6 and Tare:

(1) 9320, 10080
(2) 9660, 10060

3)

10080, 1

G Scanned with OKEN Scanner



g A 50T 0% wrafafy
33 B30 zafafy 43 o
g 10007y £y
[ ERT &, afz

N w0 g e
N2 w w ey G
U FEAfef 3w ey i 33
a8 T e am E2e

(1 9w
[
@ 92 w52
[}
@ 14 92 @ ‘\./
(4] GE e
7

(3 I TE 291 |

¢ @l 3 U =mm A w7 30,000 qan T 50,000
mlaﬁﬁamﬁrﬁ?munﬂmmgaﬂ r
M F AT W FRA WA 5l 4w
¥ WU, 3T GO % S A At v | v )
R A B e 2 BX P

.—r-"frlgf -. é:"}

(I ¥ 7,200, T 8,800 e
2 ¥ 7,400, ¥ 8,600 Yo R eo?
W ¥ 7,500, T 8,500 o O
AT 27,000, 7 9,000 )*f A

5 I 76 0 A 5-3{1}‘?(‘0

AN

- . .
* i temd 100 fell/de A shem T @
TR an w75 flt & ang 3 fire & B
**Wﬂhaﬁsunﬁﬁnﬁwswﬁﬂ?ﬂ““iﬁ*

g

—

a5,

96.

" , BU-pape Tl
A tokes 8 hours to copy i DU-PRRE manuscript

while B ecan copy the
iy hours would it tuke Lhem Lo

sOme manuscript

6 hours, How mi i
. H)-pnge manuscript, il they work

copy n similar U

together ?

(1) 8 hours

(2) EIE hours

t3) 14 hours

(4} Gg hours

(8) Not atlempled

Two friends invested T 30,000 and T 50,000 in a
business, They earned a profit of ¥ 16,000 at the
end of the year. One half of the profit was divided
equally between them and other half was divided
in the ratio of their capitals, Tow much did each

of them reeeive ?

(1) ¥ 7,200, ¢ 8,800
(2) T 7400, T 8,600

(3) € 7,500, T 8,500

(4) T 7,000, ¥ 9,000 g
(6] Not attempted

An express train travelled at ap average speed of
100 km/h stopping for 3 minutes aftep every
75 km. How long did it (a)e to reach the
destination 600 km [rom (he starting point ?

(1)
(2)
(3)
(4) 6 hours 21 minuteg
(5) Not attempted

6 hours 24 minutes
6 hours 27 minuteg

6 hours 30 minyteg

T @rd % forg ¥UT / SPACE
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s v @ 100% % B A0 Fem g
gl W ¥ §
[o°

1378

aft wwn x,
tﬂaﬂtwmt,ﬂxﬂ"‘?’
(1) 14065 8
{2} 143

(8) 150

@ 12378 L

(5) 3w T F0 =

(075" 2, q] S g R
l_n_n-ﬂm*hm-m +1] 1=

s
@ 3

"/(I} +

@ 1
(5) Imad Ay o

s P L : s k"' b

-~ 3 2070 ST .-

Sl ol

If & number x is 10% less than another number y
and y is 10% more than 125, then the value of x

140-56
143
150
123-T6

(6) Not attempted

The positive square root of

075" A
- + [0F75 + (0T +1] is:
=Dk 075 + (0-75) ]

(1)
(2)
(3
4)
(5)

_@diwgnnnd 12 boys working togethe:
#2070 in a day. If the daily wages of
man, o woman and a boy are in the ratio o

/A i: 3 : 2, {the daily wages (in T) of 1 man
2 women and 3 boys are :

© 1804




